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BACHELOR'S DEGREE PROGRAMME 
(BDP) 

Term-End Examination 

December, 2016 

BECE-107 : INDUSTRIAL DEVELOPMENT IN 
INDIA 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as per instructions. 

SECTION - A 

Answer any two questions from this section in 
about 500 words each : 2x20=40 

1. Give a brief account of the policy initiatives in the 
Indian industrial sector during the past two 
decades. 

2. What are the major problems of workers in the 
unorganised sector enterprises in India ? What 
are the measures taken by the government to 
improve their condition ? 

3. Explain the nature of linkages between industry 
and agriculture. In what respects industry 
contributes to agricultural growth in India ? 

4. Define economies of scope. Under what 
circumstances economies of scope may arise ? 
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SECTION - B 

Answer any four questions from this section in 
about 250 words each : 	 4x12=48 

5. How do you define industrial sickness ? Why does 
it arise ? What policy measures do you suggest to 
reduce industrial sickness ? 

6. Explain how industrialisation may lead to 
environmental pollution. 

7. Why is under - utilisation of capacity 
undesirable ? Suggest measures to improve 
capacity utilisation. 

8. Explain how principal - agent problem takes place 
in corporate sector. 

9. Explain the need for a competition policy in India. 

10. Comment on the need for privatisation of 
industries in India. 

SECTION - C 

11. Write short notes on any two of the following in 
about 100 words each : 	 2x6=12 
(a) Consumer Protection Act 
(b) Problem of sugar industry in India 
(c) Total Factor Productivity 
(d) Linkages between industry and tertiary 

sector. 
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